
B. A./B.Sc. 3rd Semester (Honours) Examination, 2021 (CBCS)

Subject : Economics

Paper : CC-5

(Introductory Microeconomics)

Time : 3 Hours Full Marks : 60

The figures in the margin indicate full marks. Candidates are required to give their answers in

their own words as far as practicable.

øé¬Ì √õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/ ¬Ûı˛œé¬±Ôœ«Àı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any six questions 5×6=30

ïÀ˚ Œfl¬±ÀÚ± Â˚˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›ó

(a) What is quasi rent? How does it originate?

Quasi rent øfl¬∑ ¤È¬± øfl¬ˆ¬±Àı Î¬◊æ”Ó¬ ˝˚˛∑

(b) Briefly explain the general equilibrium approach in an economy with two goods, two

factors, two individuals and two firms.

√≈øÈ¬ ¬ÛÌ…, ≈øÈ¬ Î¬◊¬Û±±Ú, ≈øÈ¬ ı…øMê ¤ı— ≈øÈ¬ Ù¬±˜« ¸˜ø∞´Ó¬ ’Ô«ÚœøÓ¬ÀÓ¬ ¸±Ò±ı˛Ì ˆ¬±ı˛¸±À˜…ı˛ ¬ÛX¬øÓ¬ı˛ ¸—øé¬l
ı…±‡…± fl¬ı˛/

(c) What is meant by excess capacity? Explain the main features of monopolistic competition.

’øÓ¬øı˛Mê é¬˜Ó¬± ı˘ÀÓ¬ fl¬œ Œı±Á¬∑ ¤fl¬À‰¬øÈ¬˚˛± √õ∂øÓ¬À˚±ø·Ó¬±˜”˘fl¬ ı±Ê±Àı˛ı˛ √õ∂Ò±Ú ∆ıø˙á¬…&ø˘ ı…±‡…± fl¬ı˛/

(d) What do you mean by Monopoly Power? Describe ways of measuring degree of monopoly

power.

¤fl¬À‰¬øÈ¬˚˛± é¬˜Ó¬± ı˘ÀÓ¬ øfl¬ Œı±Á¬∑ ¤fl¬À‰¬øÈ¬˚˛± é¬˜Ó¬±ı˛ ˜±S±ı˛ ¬Ûøı˛˜±¬Ûfl¬&ø˘ Î¬◊À{°‡ fl¬ı˛/

(e) Distinguish between differential rent and scarcity rent.

¬Û±Ô«fl¬…ÊøÚÓ¬ ‡±ÊÚ± › ≈©x±¬Û…ÊøÚÓ¬ ‡±ÊÚ±ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬ı˛/ √

(f) Distinguish between notions of partial equilibrium and general equilibrium. Explain the

Pareto optimality in production sector.

’±—ø˙fl¬ › ¸±Ò±ı˛Ì ˆ¬±ı˛¸±˜… Ò±ı˛Ì±ı˛ √õ∂Àˆ¬ Œ‡±›/ ¬ÛÌ… Î¬◊»¬Û±ÀÚı˛ ¬Û…±Àı˛ÀÈ¬± øÚÀ«ø˙Ó¬ fl¬±˜…Ó¬±ı˛ ˙Ó«¬&ø˘
ı…±‡…± fl¬ı˛/

(g) Distinguish between gross profit and net profit. Discuss the innovation theory of profit.

¬À˜±È¬ ˜≈Ú±Ù¬± › ÚœÈ¬ ˜≈Ú±Ù¬±ı˛ ¬Û±Ô«fl¬… fl¬ı˛/ ˜≈Ú±Ù¬±ı˛ Î¬◊æ±ıÚœ Ó¬MW ’±À˘±‰¬Ú± fl¬ı˛/
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(h) What is product exhaustion theorem? Mention briefly how equilibrium wage rate is

determined in a competitive market.

^ı… øÚ–À˙¯∏ Ó¬MW øfl¬∑ √õ∂øÓ¬À˚±ø·Ó¬±˜”˘fl¬ ı±Ê±Àı˛ ˆ¬±ı˛¸±˜… ˜Ê≈øı˛ øfl¬ˆ¬±Àı øÚÒ«±øı˛Ó¬ ˝˚˛ Œ˘‡/

2. Answer any three questions 10×3=30

ïÀ˚ Œfl¬±ÀÚ± øÓ¬ÚøÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›ó

(a) Write down any two sources of monopoly. Show that the price under bilateral monopoly

remains indeterminate.

¤fl¬À‰¬øÈ¬˚˛± fl¬±ı˛ı±Àı˛ı˛ Œ˚ Œfl¬±ÀÚ± ≈øÈ¬ Î¬◊»À¸ı˛ Î¬◊À{°‡ fl¬ı˛/ Œ‡±› Œ˚ øZ¬Û±øé¬fl¬ ¤fl¬À‰¬øÈ¬˚˛± ı±Ê±Àı˛ ±˜
’øÚÒ«±øı˛Ó¬ Ô±Àfl¬/

(b) Mention different forms of price leadership. Critically examine any one form of price

leadership model.

±˜ ŒÚÓ‘¬ÀQı˛ øıøˆ¬iß Òı˛Ì&ø˘ Î¬◊À{°‡ fl¬ı˛/ Œfl¬±Ú ¤fl¬øÈ¬ ±˜ ŒÚÓ‘¬Q ˜ÀÎ¬À˘ı˛ ¸˜±À˘±‰¬Ú±˜”˘fl¬ øıÀù≠¯∏Ì fl¬ı˛/

(c) What is the Kinked demand curve? How will you explain the equilibrium when such type

of demand curve exists?

Kinked ‰¬±ø˝±Àı˛‡± øfl¬∑ ¤˝◊ Òı˛ÀÚı˛ ‰¬±ø˝±Àı˛‡±ı˛ ’øô¶∏MW Ô±fl¬À˘ Ó≈¬ø˜ øfl¬ˆ¬±Àı ˆ¬±ı˛¸±˜… ı…±‡…± fl¬ı˛Àı∑

(d) Define collusive oligopoly? Mentioning the relevant behavioural assumptions, derive the

equilibrium in Cournot model of duopoly.

¸—‚ıX¬ ’ø˘À·±¬Ûø˘ fl¬±Àfl¬ ıÀ˘∑ ’Ú≈Ò±ı˛Ì± ¸˝ fl≈¬ÀÌ«±ı˛ Î≈¬À˚˛±¬Ûø˘ ˜ÀÎ¬À˘ı˛ ˆ¬±ı˛¸±˜… øÚÒ«±ı˛Ì fl¬ı˛/

(e) State the degree of price discrimination under monopoly. Derive quilibrium conditions of

a discriminating monopoly firm.

¤fl¬À‰¬øÈ¬˚˛± fl¬±ı˛ı±Àı˛ ±˜ ¬Û‘Ôfl¬œfl¬ı˛ÀÌı˛ ˜±S± &ø˘ Î¬◊À{°‡ fl¬ı˛/ ±˜ ¬Û‘Ôfl¬œfl‘¬Ó¬ ¤fl¬À‰¬øÈ¬˚˛± Ù¬±À˜«ı˛ ˆ¬±ı˛¸±À˜…ı˛
˙Ó«¬&ø˘ ’±À˘±‰¬Ú± fl¬ı˛/
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